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Exam Code : AADHI_32 Exam Date :01-06-2019
Version 116 Exam Time :09:00 - 10:30

Question No. 1

A loss of 25% is incurred in selling an item for Rs.2400. What should be the selling price if there should be a

profit of 25%7?
A)Rs.4000 B)Rs.2700
C)Rs.3600 D)Rs.4200

T T&] A $.2400 H 9 W 25% Hr @iy Belr §1 25% FT W7 WIed R & AT @R qoF = ger
ifge?

A)F.4000 B)%.2700
C)%.3600 D)%.4200
Answer Key : A Your Response : A (Correct)

Question No. 2
Plants that grow in the absence of sunlight in water are called-
A)Algae B)Shrubs
C)AII of the options D)Fungi

alelt A FF F WERN & I T 391 arer Giedt A FAr FHYr ST g2

A)arer B)&IT AT SST (Shrubs)
C)fdeheul & & Tl D)shdeh
Answer Key : D Your Response : C (Wrong)

Question No. 3

If CAT + DOG = 50, then BAT + HEN = ?
A)50 B)25
C)30 D)40

e CAT + DOG = 50 &, a BAT + HEN = ?

A)50 B)25
C)30 D)40
Answer Key : A Your Response : A (Correct)

Question No. 4
Two numbers are in the ratio 1 : 4 and their LCM and HCF are 84 and 21. Find the smaller number.
A)18 B)84
C)108 D)21

ar §EA? 11 4 F U A § 3R 3% @ a(LCM) 3R FHIHCF), 84 3R 21 §I 3K e wa fifawl
A)18 B)84
C)108 D)21

Answer Key : D I
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Question No. 5

has been awarded with the Padma Vibhushan award in 2019.

A)Anilkumar Manibhai Naik B)Manoj Bajpayee

C)Darshan Lal Jain D)Nanaji Deshmukh

2019 & I 927 TIS[Y0T PR & oAl R aram gl
A)JTACTHAR HAOTTS A B)#aiteT SToTait

C)gedeT ofTel SieT D)ATeTSH &R

Answer Key : A Your Response : B (Wrong)

Question No. 6
Who among the following was the youngest batsman to score 10,000 test runs, breaking the record
previously held by Sachin Tendulkar?
A)Ricky Ponting B)Rahul Dravid
C)Kumar Sangakkara D)Alastair Cook

ﬁmﬁﬁaﬁ@rﬂa,aﬁaﬁgawmrﬁwﬁﬁéaﬁsﬁgcmooommmmmmww
FoodrsT ar?

AT G B)Vge afas
C)FHAR HIMhRT D)tfaex T
Answer Key : D Your Response : D (Correct)

Question No. 7
An inlet pipe will fill a tank in 10 minutes. There are two outlets that can empty the tank separately in 12 and
15 minutes respectively. If all the pipes are opened and water starts filling up the tank, in what time will the
tank get filled or emptied?
A)Emptied in 20 minutes B)Emptied in 18 minutes
C)Filled in 75 minutes D)Filled in 36 minutes

T Fololc UIST U & ol 10 Aeae 7 sw aam| & & oY 3m3cae §, S 3raer-3raer Haer: 12 34K 15 @ae &
& F @el W wed §1 IR Tl agdl @ @er R Swer ¢ 3R & uelr sRem g% & o §, o & fnae
THT A QU R SICE AT G Trell g Seen?

A)20 f&sTe & @relr g e B)18 fAdc & W@rell g ST
C)75 fAde & & amwen D)36 fAec & X Srwen
Answer Key : A Your Response : A (Correct)

Question No. 8
If 2x + y = 35 and 3x + 4y = 65, find the value of x/y.
A)3 B)9
C)y7 D)5

Iy 2x + y = 35 3R 3x + 4y = 65 @, A xy F AT AT PATI

A)3 B)9
C)7 D)5
Answer Key : A Your Response : A (Correct)

Question No. 9

Simplify: sin(30° - AL+ sin(30° + A) _ o

e e — Y . 1




A)sin A B)2 sin A
C)2cos A D)cos A

e HfSAT: sin(30° - A) + sin(30° + A)

A)sin A B)2 sin A
C)2 cos A D)cos A
Answer Key : D Your Response : B (Wrong)

Question No. 10

What is the work done in moving a unit positive charge from infinity to that point, at that point?

A)Charge B)Current

C)Electric potential D)Resistance

Teh SIS HeAlcH AU Y el A T g 0 TEIART el 7 fhar Fd, 500 g W & T
g Bl

A)3Taer B)&IRT

C)faega fasra D)gferrer

Answer Key : C Your Response : Not Answered

Question No. 11
Why does a nail have a pointed tip?
A)The force acting on a smaller area exerts a smallerB)The force acting on a larger area exerts a zero
pressure pressure
C)The force acting on a smaller area exeris a largerD)The force acting on a larger area exerts a larger
pressure pressure

e At A Thr F4F e 82

A)IUEThd BIE &1F W ol dlell & & Gld STelcB)3T0&Thd 93 &1F W ol dlell def e &rd STefell &
gl

C)313&TTehd BIC &9 UX &Il alell §ef, 378 &9 STelcID)3veilehd &9 &1 U ofdled dTell &l 3T &I Sreldl
gl gl

Answer Key : C Your Response : C (Correct)

Question No. 12

The element, tellurium is a-

A)Metal B)Both metal and metalloid

C)Non-metal D)Metalloid

CHRIA AHF AT TH gl

A)&rg B)&rq 3R 39rq gt
C)3rerd DERGIGH
Answer Key : D Your Response : C (Wrong)

Question No. 13

Complete the series.

2,3,6,18, (...)
A)46 BG4

I e — S = ——— =
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C)108 D)96

rofr &t qu Y

2, 3, 6, 18, (...

A)46 B)64

C)108 D)96

Answer Key : C Your Response : Not Answered

Question No. 14
In a certain code, 15789 is written as 'XTZAL' and 2346 is written as 'NPSU'. How is 23549 written in that
code?
AINPZTX B)NPTSL
C)NPSUL D)NPLUS

s fARET Hesrar #, 15789 @ 'XTZAL' for@m arar ¢ 3K 2346 &t 'NPSU' forar Sirar 81 3 fesmr
23549 &t H¥ fo@r swm?

AYNPZTX B)NPTSL
C)NPSUL D)NPLUS
Answer Key : B Your Response : B (Correct)

Question No. 15
Which of the following is the number of oscillations per unit time of the sound wave?
A)Wavelength B)Time period
C)Amplitude D)Frequency

frfaf@a & & =i w1 Rl eafer T & afa so$ W F v are Qe fr d&r 82

A) T geF B) 3TTacishTel
C)3irarH D)3mgfcd
Answer Key : D Your Response : D (Correct)

Question No. 16

Who was the first woman ruler of Delhi?

A)Chand Bibi B)Rani Roopmati
C)Manikarnika D)Razia Sultana

feeelr 1 ugel Al AreF T A?

A)die ey B)IT=i ®aT

C)# TR ToTeT D)Iforar e

Answer Key : D Your Response : D (Correct)

Question No. 17
A train 125 m long passes a man, running at 5 km/hr in the same direction in which the train is going, in 10
seconds. What is the speed of the train?
A)55 km/h B)54 km/h

C)50 km/h D)45 km/h
Top
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125 #Y ofelY U IS TS AR FY, S &oT v fgew F 5 Fpefivder Hr arer ¥ 5w wr g, 10 VFs F 97 FA
g1 &1 fr =rer fhae 72

A)55 fefi/eer B)54 frali/eer
C)50 freti/eer D)45 faraii/eer
Answer Key : C Your Response : Not Answered

Question No. 18
The difference between the Simple Interest on some principal at 8% for 8 months and 6% for 14 months is
Rs.200. What is the principal?
A)Rs.12000 B)Rs.24000
C)Rs.14400 D)Rs.12800

Rl Aot T 8% T W 8 FE IR 6% Hr X A 14 AQW & WURYT SUS & &l H e $.200 g

HeTeeT A hifaw

A)%.12000 B)%.24000

C)%.14400 D)%.12800

Answer Key : A Your Response : A (Correct)

Question No. 19

. 23 ..2 1
Evaluate: 45 of —+1=+3 of 5-10
5 7

A) B)

10 14

0) D)

. 2
goT Fi: 450f §+1;+3 of %-10
3] i

A) B)

10 14

C) D)

Answer Key :D your Respo/,"se :D (COIIeCﬂ




Question No. 20
The population of a town increased by 10% and 20% in two successive years, but decreased by 25% in the
third year. Find the ratio of the population in the third year and the population 3 years back.
A1 1 B)99: 100
C)100: 99 D)2: 1

T AET AT AT A SRR & I H 10% AR 20% i gy §8, Fheg M af F gEH 25% A FAT g5
e 9§ F Sewer AR 3 9 qF i SEEEr # g wq A

A1 1 B)99 : 100
C)100 : 99 D)2 : 1
Answer Key : B Your Response : C (Wrong)

Question No. 21
If 3*4 = 21 ; 4*5 = 36 ; 5*6 = 55, then find 6*7.
A)91 B)67
C)42 D)78

e 3+4 = 21 ; 4+5 = 36 ; 5+6 = 55 &, A 6+7 F AT AT PITAT|

A)91 B)67
C)42 D)78
Answer Key : D Your Response : D (Correct)

Question No. 22

The is the first citizen of India.

A)President B)Member of Legislative Assembly
C)Prime Minister D)Vice-President

IR I Ygell AR giem 2l

A)Irsgafa B)faensT @am & deww (Fumge)
C)uen=T HAT D)3uRISga e

Answer Key : A Your Response : A (Correct)

Question No. 23
What is the probability of getting a sum 10, when a die is rolled twice?
A)3 B)5/36
C)1/12 D)1/36

el 9 & & 9 & ST W I arer I F AT 10 g Hr WR¥EwAr Fa fifSwl

A)3 B)5/36
C)1/12 D)1/36
Answer Key : C Your Response : C (Correct)

Question No. 24
The book ,“No Spin”, is an autobiography of-
A)Muttiah Muralitharan B)Anil Kumble
C)Shane Warne D)Bishan Singh Bedi
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A) AT AT B) 31ferer dharer
C)QT atel D)ferere g adr

Answer Key: C Your Response : B (Wrong)

Question No. 25

The length of the direct common tangent to two circles of radii r

and r; and d is the distance between their centres is:

A) B)
d? (1'11'9) Jd® -(1‘1+1‘2)2

Q) D)

12 (27 de(r -1 )°

ﬁ?&TrlﬁTrgmﬁﬁEﬁ?#aﬂ%ﬁaﬁﬁﬁ{ﬁd%’W?ﬁiﬁ
AT TILT @3 fr T AT R

A) B)

d* (vyrs ) JA7 (g +1,)°

C) D)
9 9 9 Q9 2
,fd‘ -(1‘1‘1“2') d”-(1;-1)
Answer Key : D Your Response : Not Answered

Question No. 26
Which hormone promotes RBC production in the bone marrow?
A)Cholecystokinin B)Serotonin
C)Somatostatin D)Erythropoietin

HPY #sem & Ao HleT A1 gl RBC 3cUIee 1 Ferar &ar §?

A) ST @ B) RRIeifelet
C)amFerefe D)eRgasies
Answer Key : D Your Response : D (Correct)

Question No. 27
Which of the following material has a shiny appearance?
A)Aluminium B)Sulphur

|

CYCoal |
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ARRd § ¥ FiT O T, THeer Er &ar 2

A) Tegeeas B)dehY
C)drger D)ahTeeT
Answer Key : A Your Response : B (Wrong)

Question No. 28

Which word will best complete the relationship given below?
Physician : Treatment :: Judge : ?

A)Court B)Lawyer
C)Arrest D)Judgement

FieT A1 oeg A RE 7T Heer i wer s F T F+am?

Rffcs 3R ;e ; ?

A) ST B)a<hrer
C)PRTAR Felm D)fAvT SEar
Answer Key : D Your Response : D (Correct)

Question No. 29
In this question, a statement is given followed by four conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Ability is poor man's wealth.

Conclusions:

I. A poor man can earn wealth if he has ability.

Il. A wealthy man is always able.

lll. A poor man is always able.

IV. A poor man has the ability to earn wealth.

A)Only conclusion Il follows B)Only conclusion |l follows
C)Only conclusion IV follows D)Only conclusion | follows

Top




39 W H, T FYT AR 30F oA AR sy fow v § 37 () @ 9o S arfhed 9 & Fd 3ugEd
gl

el

&THAT T 3TeHT T o i

IGAC2 R
I. 7 TfFd & 91 &A1 § dr 98 U foid T FehaT B

Il el Safera g W&TA g gl
. e IfFT AW T&TH Ar &l

IV. T IFT & I T FART FT &HAT g 2l

AFaer TTeay Il 3uged g B)&ael sy || 3uged g
C)Fae forshd IV 39ged Bl D)aer sy | 3uged &
Answer Key : D Your Response : D (Correct)

Question No. 30
On which of the following principle does the human eye work?
A)Dispersion of light B)Reflection of light
C)Refraction of light D)Scattering of light

AT T 3TE T § & P Rgia W e w1 87

A)TeRTer & gReTgoT B)YhIN & WRTdcTed
C)JeRI & 3T9aciel D)JeRTer & Sehiotel
Answer Key : C Your Response : C (Correct)

Question No. 31

Read the following information carefully and answer the question given below.

Seven members A, B, C, D, E, F and G represent different countries in Olympics, USA, China, Korea, France,
Russia, Australia and Japan; each one competes for a different sport, viz. volleyball, archery, rifle shooting,
tennis, boxing, athletics and football. The order of persons, countries and games is not necessarily the same.
C represents China for archery. D represents USA but not for volleyball or rifle shooting. One who represents
Japan competes for boxing. E competes for volleyball but not Korea. A represents Australia for athletics. The
one who represents Russia competes for tennis. F does not represent Korea or Japan. G competes for rifle
shooting.

Which of the following countries is represented by E?

A)Korea B)France
C)Japan D)Russia

Top




Ffaf@d IRt @ & & 9¢ 3R T e a0 e #r 3cr/ &I

AT WG A, B, C, D, E, F 3R G 3i6ifie # sremr srewr &2if o- quaw, i, IR, wiw, &4, sieefoar
IR ST w7 Rt WA § 39 & 9dF T A9 W ofA- dielaie, dRarel, Weha gfee, dfa,
TFhaloN, TYAfeTT 3R Pedier A owwm ad & Few, S iR Well FT o A e aar S =761 & |

C dieet ¥ v @ & sfafaftea war §1 D gua &1 wfafaftes wwar & affer dielsier ar Wswa YfeT &
T 7@ S S w1 AR Fwar ¥ 95 qFeaet F RFew dar 1 E areta F Rear dar & afer
FINAT & [T A A TRt § AT IR o sR_Rfa F=ar & st & 71 9Rfefca & § a8
& 3 fear o §1 F IR ar srarer v gfafafies st avar 81 G Uswe feer F fewr @ B

E, Pmafaf@a & & fFe &ur & wafaf®c wwar 87

A)aifar B) Wi
C)SrareT D)y&g
Answer Key : B Your Response : B (Correct)

Question No. 32
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some glasses are spoons.
2) All spoons are jugs.

Conclusions:

I. All jugs are glasses.

Il. Some spoons are jugs.

A)Only conclusion | follows B)Neither conclusion | nor Il follows
C)Only conclusion Il follows D)Both conclusions | and Il follow

39 o &, & FYEl & w15 A ARy Ru v §1 3w sy (3i) A o o aifdes §7 & w98 390G &

FUA:
1) $o @em w719 ¢
2) w3l gFg ST gl

frsny:
I. wefr ST e &1

Il. & T ST

A)arael forsey | 39ged g B)a ot forseh | &7 &Y || 3ugerd &
C)Faer fTreay Il 39gad & D)arsr sy | 3K I 3ugea g
Answer Key: C Your Response : C (Correct)

Question No. 33

With which of the following has IIT-Kharagpur partnered for advanced research in 5G and artiﬁcziaolp
intelliaence? e — T ————— " 1




A)TCS B)Microsoft
C)Amazon D)Wipro

5G 3R PMAA FigAcH # Il IFHYET & fAT IIT- WearR o fAeifaf@a & & s ary Aglery $r 872

A)TCS B) AT
C)3t#steT D)fasiy
Answer Key : D Your Response : B (Wrong)

Question No. 34

Night blindness is caused by deficiency of-

A)Vitamin D B)Vitamin C

C)Vitamin A D)Vitamin B

Tafedr Qer & HAT F FHROT B &

A)ferfAsT D B)faerfaesr C

C)faarfaa A D)fgerfa= B

Answer Key : C Your Response : C (Correct)

Question No. 35
Find the least perfect cube divisible by 2, 3, 4 and 6.
A)Y512 B)1728
C)216 D)360

g% B ¥ B8 Ot uer HEAr A HifST, S 2, 3, 4 3R 6§ quiaar sy @l

A)512 B)1728
C)216 D)360
Answer Key : C Your Response : C (Correct)

Question No. 36
The difference between two integers is 5 and their product is 500. Find the numbers.
A)30, 25 B)15, 20
C)25, 20 D)21, 26

ar quiterl & & 1 3T 5 § 3R 3o Joehe 500 §1 HEAT AT R

A)30, 25 B)15, 20
)25, 20 D)21, 26
Answer Key: C Your Response : C (Correct)

Question No. 37
What is the present position of India on the 2019 World Press Freedom Index (RSF)?
A)180 B)120
C)136 D)140

g 9w Faciaar gawiw 2019 (RSF) F #RT qoa # foFa ¥Ie W §72
A)180 B)120
C)136 D)140

Answer Key : D Your Response : Not Answered

| ——rr er—— o e i . 1



The chemical process by which glucose is broken down anaerobically is known as-

A)Sublimation B)Distillation

C)Fermentation D)Sintering

a% T gfhan, o as gaRT Tepier @ IERE §9 § ST AT g, gellc &
A)FEdaTasT(Sublimation) B) 3m&@asT(Distillation)
C)fFuasi(Fermentation) D) reat (Sintering)

Answer Key: C Your Response : D (Wrong)

Question No. 39
What is the Sun and the celestial bodies revolving around it called as?
A)Galaxy B)Milky way
C)Constellation D)Solar system

¥ 3R 38F IR 3R T oA arer Taeny Rt @ FAr g S 87

A) 3TTRIRIETET B)f&edr o
C)dRrAse D)&R#HSe
Answer Key : D Your Response : B (Wrong)

Question No. 40

National Bamboo Mission is a sponsored scheme of Ministry of-

A)Chemicals and fertilizers B)Environment, Forests and Climate Change
C)Water Resources D)Agriculture and farmers welfare

T S e Frew iy Qs #

A)TTET TF 38H B)TATeROT, & Td Sferarg IRace

C)STel HHTHT HIATIA D) Ud fohdrer sHearor

Answer Key : D Your Response : D (Correct)

Question No. 41
Which colour among the seven colours of white light gets least deviated after dispersion of light through a
glass prism?
A)Red B)Indigo
C)Orange D)Violet

QW TFRI F T @ F F FieT @1 FF F Do @/ Foer & GRE0r F a5 9 FA Qaior aar §7?

NG B)sfrer
C)aARsfr D)SaTetT
Answer Key : A Your Response : A (Correct)

Question No. 42

Top




Choose from the alternatives the figure that best completes the

pattern given below.

A) B)

X R

0) D)

R N

few a7 el # ¥ 98 Apia g, AT A T AT ST @ g e
il

A) B)

X ¥
¥ <

Answer Key: C Your Response : C (Correct)

C)

Question No. 43
Area of a square field is 24200 m2. How long will it take for a person to cross the field diagonally at the rate of
4.4 km/h?
A)2.5 minutes B)2 minutes

C)4 minutes D)3 minutes

TF FIFR Td T &% 24200 T97 #HeX B 4.4 BFsl/eer & o ¥ 9 )@ Flt SafFq & 58 [l )
A # Frcem T FEEn?

A)2.5 e B)2 e
C)4 e D)3 fee
Answer Key : D Your Response : A (Wrong)

Top
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Which machine part is used to reduce friction between hubs and axles of ceiling fans and in bicycles?
A)Springs B)Ball bearings
C)Bolts D)Nuts

Hifeler thet 3 wsfRer & &9 AR gfr & i ador r FH e F AT fF TN gof F 39T fRar Srar 87

A) T B)arer ST
C)arec D)
Answer Key : B Your Response : B (Correct)

Question No. 45

The chemical formula of gypsum is-

A)CaS04 .3H20 B)Na,C0O3.8H20
C)NaxC0O3.10H20 D)CaS04 .2H,0

fSews @1 Tarfas g = §?

A)CaS0, .3H,0 B)Na,CO3.8H,0
C)NayCO3.10H,0 D)CaSO, .2H,0

Answer Key : D Your Response : D (Correct)

Question No. 46

If '+ means -, - means 'x’, 'x' means "+, and '+' means '+'then 15 x 3+ 15+5-2=7
A)6 B)10
C)20 D)5

IfE '+ H AdT Y §, W N HAdeS X' §, ' & Ades ', R w AT H E, @ 15x 3+ 15+ 5-2
=7

A)6 B)10
C)20 D)5
Answer Key : B Your Response : B (Correct)

Question No. 47

Which word will best complete the relationship given below?
Bacteria : Decomposition :: Yeast : ?

A)Eruption B)Injection
C)Fermentation D)Conservation

FieT W oreq oA T aTw waer A W alF & Qb wen?

GﬁaTUl':ﬁEIEFr::EﬂIT:?

A)TEpee B)gatarereT
C)fpuasT D)&&ToT
Answer Key : C Your Response : C (Correct)

Question No. 48
Ages of two brothers differ by 7 and are in the ratio 3 : 2. What is the sum of their ages?
A)21 B)42

| ——rr er—— o P i . 1
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C)45 D)35

ar sTSAT Y Y F AR 7 & IR AT 3: 2 F 3THr I F AT AT RS

A)21 B)42
C)45 D)35
Answer Key : D Your Response : D (Correct)

Question No. 49
If the image formed by a spherical mirror is virtual, then the magnification value is-
A)Negative B)Zero
C)Positive D)Infinity

IR v M gdvr garT AT yfafds 3mmd &, o snade & A= T fifew)

A)FRUTcHS B)
C)YeTTcH D)3t=d
Answer Key : C Your Response : C (Correct)

Question No. 50
Vignesh puts a watch on a table in such a way that it reads 9:15 a.m. Hour hand points to the south direction.
Which direction does the minute hand face?
A)East B)South
C)North D)West

feaer o A9 W w g A F 56 e Wl & F e F 9:15 F WAT ©C arelr F§ ST fowr A A}
S e §1 TRete arelr g8 R R #F §2

AT B)afaror
C)3eX D)ufdes
Answer Key : C Your Response : D (Wrong)

Question No. 51

Vitamin B1 is also called as-

A)Biotin B)Ascorbic acid

C)Thiamine D)Niacin

ferf@er B1 &t $r g S &

AR B)uEHiSF uflE

C)fRranfasr D)fanfasT

Answer Key : C Your Response : A (Wrong)

Question No. 52

Top




In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) All trees are flowers.
2) All flowers are grasses.

Conclusions:

I. All trees are grasses.

Il. Some flowers are grasses.

A)Either conclusion | or Il follows B)Only conclusion Il follows

C)Both conclusions | and Il follow D)Only conclusion | follows

3 W A, & FYAl & 91g 3 fAsy R aw §1 37 sy (31 #r g S arfdher w7 F T g @

T
1) @t 93 G 1

2) o g T €

IGLCD T
I. |3 93 o €1

Il. F& g ur
A)aT ot fasemy | A &t Il 3ugerd Bl B)&ael fasehy || 3uged g
C)awt fasehy | 3R Il 397 £ D)dhaer fosehy | 39gerd Bl

Answer Key : C Your Response : C (Correct)

Question No. 53
In the game of chess, which animal does a rook represent?
A)Elephant B)Horse
C)Camel D)Goat

AT & WA H, ‘T fh A9 o1 yfafaf®ca war &2

ATl B)=eT
C)3cT D)S&r
Answer Key : A Your Response : A (Correct)

Question No. 54
Find the volume of a sphere whose surface area is 1386 m2.
A)4651 m? B)4851 m?
C)3850 m? D)5711 m?

3 e F AT AT Fifore, e qodT aawer 1386 #Hiex? g
A)4651 #er® _ 14851 #fexs

= o E— = 1

Top




C)3850 #iex3 D)5711 #ie®

Answer Key : B Your Response : Not Answered

Question No. 55

Choose the alternative that best replaces the question mark(?) in the

given figure.
A) 49 B)
54
Q) 49 D)
61

39 feT & IO ®Y, S ARG H ged TEd (2) F FTUH W ™
S % forT waEfeas 39ged @l

4
12

A) 49 B)

54
c D

) 49 )

61

Answer Key : A Your Response : Not Answered
Question No. 56

AIDS virus destroys the body's-
A)Red blood corpuscles B)Circulatory system
C)Liver D)Immune system
AIDS T oy e & H TS F &aT &
A)TITel Tard SHIOTRI3T B)uR&wRoT a7

C)uFa

c

Ancurar Unuv « D



Question No. 57
Which of the following is an example of endoparasite?
A)Head lice B)Body lice
C)Ticks D)Tape worm

AT & A P Ir 3iT:9GENEl HT T 3SEIT &7

AR F 5 B)eRR & 3
C)RFerst (Ticks) D)Sramsia
Answer Key : D Your Response : D (Correct)

Question No. 58
What is the full form of FERA?

A)Foreign Export Revaluation Act B)Finance and Export Regulation Association
C)Foreign Exchange Regulation Act D)Funds Exchange Resources Act

FERA T qUT &9 T §?

A)BIRET TFadIE RegquereT Tae B)WBIg-¥ Us UFHUIC Lol THITATRLE
C)INT Teraisl el Tae D)had TS RARIST T
Answer Key : C Your Response : C (Correct)

Question No. 59
In which Constitutional Amendment Act were the seats of Lok Sabha increased from 525 to 545?
A)25th Constitutional Amendment Act, 1971 B)21st Constitutional Amendment Act, 1967
C)31st Constitutional Amendment Act, 1973 D)24th Constitutional Amendment Act, 1971

e dfqursT et sfRfags gann, sieweT fr Hieh fr FEar 525 F SgraT 545 #r 57

A)258 T gees sfafes, 1971 B)21d #femer delersr rffas, 1967
C)317 dfaera e sifafea, 1973 D)247 wfgursr weies Afefags, 1971
Answer Key: C Your Response : C (Correct)

Question No. 60
A man walks 3 km towards west and walks 2 km to south. Again he turns east and walks for 0.5 km. How far
is he from the starting point?
A)2.5 km B)3.2 km
C)2 km D)3 km

T e R Hr 3K 3 Rl Terar ¥ ik gfdror fir 3k 2 Rl gaar 81 R d a8 q@ A T gsar § 3R
0.5 fRell s <TercTl §1 a¢ RS fdig & fhcelr gy 872

A)2.5 Reer B)3.2 fsl
C)2 e D)3 Rl
Answer Key : B Your Response : B (Correct)

Question No. 61

Choose the figure that best represents the relationship among the

classes given below.
Truck, Ship, Goods

Top




A) B)

C) D)

FT TAT R, A AFAEg A0ET F §= F GET H#:
ua‘f—cifnmﬁﬁrﬁaaﬂ?ﬁ%’n
Tk, ST, ATel

A) B)

C) D)

Answer Key : D Your Response : C (Wrong)

Question No. 62

Calcium hydroxide, reacts with carbon dioxide to produce-

A)Both salt and water B)Salt

C)Metal D)Water

HTRIH gEsiaEs, FIe SEieuEs & Wy IR = 9ot FaT B
A)SduT TG STeT gt B)eraor

C)?II'F_I_" D)aTel

Answer Key : A Your Response : A (Correct)

Question No. 63

The number of protons in an atom of an element is equal to its-

A)Electron affinity B)Atomic weight

C)Atomic number D)Equivalent weight

el e & ] 3 shelAt fr wear sud & SR el B

A)SAFEIeT Ftcll B)IRATI] $IR

C)9RAT] AT D)dearsh HIR

Answer Key : C Your Response : B (Wrong)

Question No. 64

| e ——— e 1

Top



Eighteen men can complete a piece of work in 64 days. 9 women can complete it in 108 days, whereas 7
children can finish it in 216 days. How many days will 16 men, 9 women and 21 children together take to
complete the same work?

A)27 B)45

C)y42 D)32

18 gov Bl o7 i 64 R&l 7 @ = wFar §1 9 AR, 5& 108 &l & @ &= wwehr §, FafF 7 79,
30 216 el F @ #X W §1 16 N, 9 AR AR 21 Fodt FF v WY FeER 30 FF A @ FE A
et foer wmrr?

A)27 B)45
C)42 D)32
Answer Key : A Your Response : Not Answered

Question No. 65

Atoms of the same element or of different elements can join together to form-

A)Elements B)Molecules

C)lons D)Alloys

T ¢ ded AT eMT-37e09T cdl & A] Toh T Aol Tl Tl &
A)dcca B)3-TU;I'

C) 3Tt D)f#srerd

Answer Key : B Your Response : B (Correct)

Question No. 66
Five years ago, ratio of ages of P and Q was 7 : 9. Ten years hence, this ratio would become 5 : 6. What is
the ratio at present?
A)2:1 B)4:5
C)5:4 D)6:7

g a§ ggel, P 3 Q T Y FT I 7: 9 UT| &W A §G, Ig U 5: 6 &1 S| qFHA F IoThr 3Y
&I 39T AT AT

A2 : 1 B)4 : 5
C)5 : 4 D)6 : 7
Answer Key : B Your Response : Not Answered

Question No. 67
Which of the following fossil fuels has butane as its main constituent?
A)LPG B)Natural gas
C)Coal D)Fuel oil

fArafaf@a & ¥ S Sharsr §ua & g guH JET geh giar 8?2

A)LPG B)wrhider 3t
C)arger D)EYeT O
Answer Key : A Your Response : A (Correct)

Question No. 68
Fullerene consists of carbon atoms.
A)32 B)48

| ——rr er—— o P i . 1
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C)60

PoreT 7 e IA] B E

A)32
C)60
Answer Key : C

Your Response : D (Wrong)

Question No. 69

Tank 'A’ is two-fifths full. Pipe P can fill it in 10 minutes while pipe Q can empty it in 6 minutes. In what time

will the tank get empty, if both P and Q are opened?

A)7 minutes

C)6 minutes

B)6.5 minutes
D)5.5 minutes

&F 'A' FT 2/5a7 REAT 9l ¥ SRT &1 U9 P, 39 10 A9 7 SR WhdT & Seie B9 Q, ¢ 6 PAee F @er

X G &1 I P 3T Q, =t v Wy @l A Sw, ar & fhder 96T 7 @relr @ Sen?

A)7 A
C)6 f&=ic

Answer Key : C

Ethanoic acid is commonly called-
A)Sulphonic acid
C)Hydrochloric acid

TdAIsF TRAS PN FAIA: FAT hgl Siel 62

A)Hewifes Tids
C)essiFaiNe Ufas

Answer Key : D

Elon Musk is the founder of-
A)Orbital Sciences Corporation
C)Space X

A)3iifSeer TEd PRt
C)Tad X

Answer Key : C

Find the missing number in the following series.

256, 128, 64, 32, (...), 8
A)12
C)16

B)6.5 e
D)5.5 e

Your Response : C (Correct)

Question No. 70

B)Sulphuric acid
D)Acetic acid

B)HewrgRe Uil
D)ufafes wfas

Your Response : D (Correct)

Question No. 71

B)Virgin Galactic
D)Boeing

B)afoiT eifFes
D)sigar

Your Response : Not Answered

Question No. 72

B)14
D)10

| P — e —

P —— e —

|
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fArfaf@a dofr 7 e Fear 7d fHifew

256, 128, 64, 32, (..), 8

A)12 B)14
C)16 D)10
Answer Key : C Your Response : C (Correct)

Question No. 73

Choose from the alternatives the figure that best completes the

pattern given below.

A A

0) D)

fgw aIv Redl 7 ® a7 Wl g4, S ARr R v ST w9 s
Gl

?
A) B) I
C) D)
Answer Key : B Your Response : B (Correct)

Question No. 74
Simplify: 0.05 x 0.Q02

— CE e S )
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A)0.0001 B)0.01
C)0.001 D)0.1

W dIfae: 0.05 x 0.002

A)0.0001 B)0.01
C)0.001 D)0.1
Answer Key : A Your Response : A (Correct)

Question No. 75
The longest river of peninsular India is-
A)Mahanadi B)Tapti

C)Narmada D)Godavari

TR SR & T wer AEY gl

A)HETTET B)aredr
C)ader D)aigrasr
Answer Key : D Your Response : A (Wrong)

Question No. 76
Which of the following nerves is responsible for the sense of taste?
A)Olfactory nerve B)Optic nerve
C)Glossopharyngeal nerve D)Trochlear nerve

g F Waa & fov F=faf@a # § sl @ dflEsr scargrT gidr &2

A)emoT df¥er (Olfactory nerve) B)3fifcear df¥ar (Optic nerve)

C)fSrEanrasiT daf¥er D)ashe di¥er (Trochlear nerve)
(Glossopharyngeal nerve)

Answer Key : C Your Response : A (Wrong)

Question No. 77
If only the measures of the diagonals are given, which of these quadrilateral can be constructed?
1) Square 2) Rectangle 3) Rhombus
A)1and 2 B)1 only
C)3 only D)1 and 3

g Faer Rwoil & a0 Rw o€ &, ar s & few Tler # fawior fear smgwar 82
1) T 2) 3T 3) WA

A1 3R 2 B)¥ael 1
C)¥aa 3 D)1 31X 3
Answer Key : D Your Response : A (Wrong)

Question No. 78

When the number of atoms of each element is the same on both sides of the equation, it is a/an-

A)Balanced equation B)Mixed equation
C)Skeletal equation D)Unbalanced equation
St e FateRor & Qe 3R YAF dcd F WA Fr HEAT FART g 8, o I§ mﬁ-n%p

A\TAAT TriEsToT — T S— m | 1



C)Thece THIHIUT D)3riqferd FatenoT

Answer Key : A Your Response : A (Correct)

Question No. 79
The curved surface areas of two cones are in the ratio 2 : 1; their slant heights are in the ratio 1 : 2. What is
the ratio of their radii?
A)1:3 B)4 : 1
C)1:4 D)1:1

ar AF F T Yool & &Iahal F AU 2: 1 8 3 fdF IS 10 2 F I 7 §)| 3 BT F: 3G
HAd Il

M1 ;3 B)4 : 1
C)1: 4 D)1 : 1
Answer Key : B Your Response : D (Wrong)

Question No. 80

On which of the following river banks is Jammu situated?

A)Mahanadi B)Tungabhadra

C)Rapti D)Tawi

S 5 & R A & de W Rua 87

A) HgTeTEr B)qarstar

C)redT D)erdr

Answer Key : D Your Response : D (Correct)

Question No. 81
A cycle bought at Rs.1400 is sold at a loss of 15%. What is the selling price?
A)Rs.1385 B)Rs.1290
C)Rs.1090 D)Rs.1190

¥.1400 3 TUET 1S T Wisfher @ 15% H gIf W =1 rer g1 o e a fifawl

A)%.1385 B)%.1290
C)%.1090 D)%.1190
Answer Key : D Your Response : D (Correct)

Question No. 82

Find the ODD one out from the given options.

A)Volleyball B)Baseball

C)Football D)Chess

R T Rt 3 & I B G

A)atelaier B)sersiTer

C)gpedre D)ereRat

Answer Key : D Your Response : D (Correct)

Question No. 83
In a certain code language, 'tom na rod' means 'give me sweet', 'jo ta rod' means 'you and me', 'pot ta noc'

means 'you are good', and 'jo mit noc' means 'good and bad'.
Which of the fallow!==== S e S D — 7 . 1
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A)jo
C)noc

el TR HesmT #, 'tom na rod' FT Ade 'give me sweet' &, 'jo ta rod' # Hdeld 'you and me' g, 'pot

B)rod
D)mit

ta noc' T HAJeT 'you are good', 3R jo mit noc' F HAdeT 'good and bad' gl
3 FeHT #, e & § Rraer Ade 'bad' §7?

A)jo
C)noc

Answer Key : D

Find the product of first 10 whole numbers.
A)O
C)55

qgel 10 qUT HEAT3HT T JUIAher AT FFT]
A)0

C)55

Answer Key : A

Find the ODD one out from the given options.

AYKZM
C)LZN

R aTe Rt 3 ¥ I F
AYKZM

C)LZN

Answer Key : A

In a certain code, 26 stands for 'A', 25 stands for 'B'. Which of the following stands for the name of a country?

A)11-26-16-13
C)16-26-11-14-26

s Al Fesm #, 26 Fr H#fAwT A’ §, 25 Fr 3w B ¥ Fewfai@a & & Ha ar Gl dr F aw

F STFA FA 87
A)11-26-16-13
C)16-26-11-14-26
Answer Key : B

The repayment of a loan after 6 years at rate of 24% Simple Interest is Rs.73200. What is the amount

borrowed?
A)Rs.42000
C)Rs.45000

B)rod
D)mit

Your Response : D (Correct)

Question No. 84

B)101
D)100

B)101
D)100

Your Response : A (Correct)

Question No. 85

B)HWO
D)FPJ

B)HWO
D)FPJ

Your Response : Not Answered

Question No. 86

B)13-22-11-26-15
D)18-19-22-12-18-26

B)13-22-11-26-15
D)18-19-22-12-18-26

Your Response : Not Answered

Question No. 87

B)Rs.30800
D)Rs.30000




24% |IEROT AT i T & AT T TF HOT F 6 9§ & a1 $.73200 &I THRAT ST g1 FOT H AR AT

EUE LY

A)%.42000 B)%.30800

C)%.45000 D)%.30000

Answer Key : D Your Response : B (Wrong)

Question No. 88

Find the missing number in the series.

(...), 16,20, 11, 18,6
A)14 B)22
C)15 D)17

Rr=afe Aol ¥ IR e A AR

(), 16, 20, 11, 18, 6

A)14 B)22
C)15 D)17
Answer Key : B Your Response : Not Answered

Question No. 89
On which of the following days does the festival of Easter fall?
A)Thursday B)Saturday
C)Friday D)Sunday

T F AleR et # ¥ v e #arn sirar §2

A)TFaR B)aIfalaR
C)Ushark DRfaErR
Answer Key : D Your Response : C (Wrong)

Question No. 90

Find the ODD one out from the given options.

A)225 B)144

C)400 D)196

R aTw Rt 3 ¥ IR F T

A)225 B)144

C)400 D)196

Answer Key : A Your Response : A (Correct)

Question No. 91

Arrange the following fractions in ascending order.

5/9, 8/3, 715, 3/5, 1/9
A)1/9, 5/9, 3/5, 715, 8/3 B)5/9, 7/5, 3/5, 1/9, 8/3
C)1/9, 5/9, 7/5, 3/5, 8/3 D)8/3, 7/5, 3/5, 5/9, 1/9

| T e ——— e e~ ~7 .
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fArfaf@d Bl A 3RE w1 #F gaffya fifew)

5/9, 8/3, 7/5, 3/5, 1/9

A)1/9, 5/9, 3/5, 7/5, 8/3 B)5/9, 7/5, 3/5, 1/9, 8/3
C)1/9, 5/9, 7/5, 3/5, 8/3 D)8/3, 7/5, 3/5, 5/9, 1/9
Answer Key : A Your Response : A (Correct)

Question No. 92

The mean of a distribution is 14 and standard deviation is 5. Find the coefficient of variation.

A)27.9% B)48.3%
C)35.7% D)60.4%

Seal T AeA(mean) 14 § 3R AT Raeer 5 31 fReRor uis A fifse

A)27.9% B)48.3%
C)35.7% D)60.4%
Answer Key : C Your Response : Not Answered

Question No. 93

How many litres of water must be added to 16 litres milk containing 10% water to dilute it with 20% water?

A4 litres B)1 litre
C)2 litres D)3 litres

10% 9T geFeT 16 AT GY HT Felell Telell el & AT ITH fhctel oeX =l THemrar Ser =ifew, o f@sor 7

gt i "AET 20% 81?7

A)4 TreT B)1 aex
C)2 dex D)3 ofrex
Answer Key : C Your Response : Not Answered

Question No. 94
Which part of the ear turns the sound vibrations to electrical signals?
A)Cochlea B)Auditory canal

C)Pinna D)Tympanic membrane

T T HleT W AT Eafey el H faega Tl 3 TG 82

A)Fifeerar B) Ut Aforehr
C)somarfer (Pinna) D)FuTTed! Breel
Answer Key : A Your Response : A (Correct)

Question No. 95
Which of the following will show 'Tyndall effect?
A)Salt solution B)Sugar solution

C)Milk D)Copper sulphate solution

Prfaf@d & ¥ ST 'Rosa wona & eifar &2

A)auT-[dereT B) T faeraeT
C)gy D)&IMX Hethe faeraed
Answer Key : C Your Response : D (Wrong)

| ——rr er—— o e — i . 1
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Find the missing group of alphabets in the following series.

(...), PSV, EHK, TWZ, ILO
A)ZCF B)BEH
C)IMP D)ADG

fArfaf@a Aol & BN & ITURYT g A AT

(.), PSV, EHK, TWZ, ILO

A)ZCF B)BEH
C)IMP D)ADG
Answer Key : D Your Response : Not Answered

Question No. 97

Edible part of banana is-

A)Pericarp B)Epicarp

C)Endocarp and mesocarp D)Epicarp and mesocarp

o F @ AT REAT FAT Fgerar §?

A)Gafdifca (Pericarp) B)aregwhedifcd (Epicarp)

C)3ia-wafdifca 3 #ALIFARCT  (Endocarp andD)dedwafifca 3R #tgwafdifcd  (Epicarp  and
mesocarp) mesocarp)

Answer Key : C Your Response : B (Wrong)

Question No. 98
Starting from a point, Ganesha walked 12 m north. Then, he turned right and walked 10 m, he again turned
right and walked 12 m, then he turned left and walked 5 m. How far and in which direction is he now from the
starting point?
A)10 m, west B)15 m, east
C)10 m, east D)5 m, west

T g & Y€ @A, T0RM oo’ F 12 A Ferl AR, 98 18 3R {7 3R 10 #Hew Ten, g W F a8 i
7T 3R 12 HAiex e, R 78 91§ 3R 737 AR 5 Al Feml 39 q¢ IR [Ng & fhaer gy ik fw foer
i3

A)10 Fex, afRe B)15 #ex, 9d
C)10 e, q& D)5 fiex, afRas
Answer Key : B Your Response : Not Answered

Question No. 99
A boat whose speed in still water is 15 km/h goes 30 km downstream and comes back upstream in 4.5 hours.
What is the speed of water current?
A)10 km/h B)5 km/h
C)6 km/h D)4 km/h

T oG, forehr onid el 3 arer 15 fheliveier &, 4.5 °¢ & oy &7 fgem 3 30 fret o & 3iv oo & el
R 3 T arIg 3T §1 ORT A =T AT S| Top
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C)6 ferat/eer D)4 fral/Eer

Answer Key : B Your Response : Not Answered
Question No. 100

Which of the following is the world's longest venomous snake?

A)Mamba B)Coral snake

C)King Cobra D)Viper

Rl F ¥ FlT a1 g 71 T e RAver @iw 2

A)ATEST B)YdTeT AU (FRel Toieh)
C)fRaT PIeRT D)&T9T (AEWR)
Answer Key : C Your Response : B (Wrong)

F Frorwo e e e e e .
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